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Use the computer, split the data into Boys births and Girls births

	Boys Births
	Girl Births

	· number of babies ______
· mean  ______
· median ______
· standard deviation (this is a sample of all scores)  ______
	· number of babies ______
· mean  ______
· median ______
· standard deviation (this is a sample of all scores)  ______

	Find the weights that correspond to these percentiles 

· 3 ______    ( ____ )

· 15______   ( ____ )

· 50 ______  ( ____ )

· 85 ______  ( ____ )

· 97 ______  ( ____ )


	Find the weights that correspond to these percentiles 

· 3 ______    ( ____ )

· 15______   ( ____ )

· 50 ______  ( ____ )

· 85 ______  ( ____ )

· 97 ______  ( ____ )

	Find the weight if your z score was:

· -3 ______  ( ____ )

· -2 ______ ( ____ )

· -1______ ( ____ )

· 0 ______ ( ____ )

· 1 ______ ( ____ )

· 2 ______ (____ )

· 3 ______ ( ____ )


	Find your score if your z score was:

· -3 ______  ( ____ )

· -2 ______ ( ____ )

· -1______ ( ____ )

· 0 ______ ( ____ )

· 1 ______ ( ____ )

· 2 ______ (____ )

· 3 ______ ( ____ )


Now in the parenthesis above – fill in the values recorded by the world health organization (values are from data around the world).

	If our sample is representative of US births, how do US baby boys compare to baby boys from around the world?
	If our sample is representative of US births, how do US baby girls compare to baby girls from around the world?








